PART-B
1. Signature of invigilator on answer booklet is compulsory.
2. All answers to the questions IV, V and VI should be written
onappropriate pages only.

Q IV. Answer any five (5) of the following questions 5 x1 mark =5
. Different maturity stages of arecanut for harvesting

. Any four popular coconut tall cultivars

. Ablation

. List out the tapping implements used in rubber

. Cashew grading

. Periodic and aperiodic shoots of tea

. Coffee floral and berry abnormalities

Q V. Answer any five (5) of the following questions5 x 2 mark = 10
Comment on wintering and flowering in rubber

Pottasium deficiency symptoms in coconut and its
management

Single stem training system in Coffee

Problems and prospects of arecanut cultivation

Classification of oil palm

Comment on soil and water conservation techniques in

cashew plantation

Explain biclonal and poly clonal tea progenies with examples
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Economic importance of plantation crops
Briefly discuss the varietal wealth of arecanut
Narrate the pruning methods in tea with neat diagram
Explain harvesting and on farm processing of cocoa
Write in detail about the criteria to be followed for mother palm
and seedling selection in coconut
Comment on rubber budding covering different types of
budding
7. Explain high density planting in cashew
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Answer any five (5) of the following questions5 x 3 mark = 15
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Total marks 50 (Part- A 20 marks and Part- B : 30 marks)
Part - A Question paper:Answer within 30 min.

All answers should be written only in OMR Sheet.

Write the Correct Part-A Question paper Set Code in OMR sheet.
Get the signature of the invigilator on your Part- A QP.

Part- A

Q.L. Select the most correct answer A/B/C/D for the following
questions. 20 x 0.5 mark = 10 Marks

1. Number of plants accommodated per hectare under triangular
system of planting in eoconut is
a.120 b.172 \gesEEEy d. 220
\Z/ﬂéadquarters of coconut development board is at
a. Cochin, Kerala b. Calicut, Kerala
c.Kasaragod, Kerala d. Pedavegi, Andhrapradesh

g 3. Arecanut variety suitable for both tender nut and ripe nut
processing \/ﬂ

Seedling index is calculated as
a. (leaf no. x 40) - seedling height
b. (seedling height x 40) - leaf no.
c. (leaf no. x seedling height) - 40
d. (seedling height x 40) + leaf no.
5. FFBin oil palm stands for ‘/
a. Farm Fresh Bunches  b. Fresh Fruit Bunches

b. c. Farm Fruit bunches d. None of the above

/mudhl SAS-1 c.Sreemangala d.Swarnamangala
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